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1.) Given that 1 calorie (cal) = 4.184 Joules (1), Convert the following: D‘CS(‘ (&0 ’
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For each of the following problems, first determine whether the problem uses:

A) specific heat equation [q = C x m x AT] or

B) phase change equation [energy, Q=AH x n (inmols) or Q=AH x m (ingrams)
C) Both (as in the case of multiple points on the heating curve of a substance)

Then, record your answer in the blank.

quo - 2.) How much heat energy (in J) is required to raise the temperature of 21.2 g of liquid water from
16.8°Ct039.2°C? (C,, =4.184 1/g=°C)
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(GRE] _S'ICSC 4.) If it takes 41.72 J to heat a piece of gold (Au) that masses 18.69 g from 10.0°C to 27.0°C, what is
the specific heat of gold? 1__ me NT
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‘ 5" IO Ok 15 S? A sample of water is heated with 1.0 x 10° calories, raising its temperature from 22.0°C to 28.5°C.
Find the mass of the water. (C=1.00 cal/ge°C)
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514 A 6.) Find the mass (in g) of CCl, (carbon tetrachloride) that gains 8.92 x 10° J of energy when i

at-23.0°C. The molar heat of fusion (AH,,) for CCl, is 2.67 ki/mol. o AT e
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V(0200 3 7.) Find the energy given off (in J) when 9.00 moles of neon gas (Ne) condenses at —246°C. The
molar heat of vaporization (AH,,)) is 1.80 ki/mol. —
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QQ "‘l \CS/“O\&} Find thef vaporization (AH, ) for chlorine gas (Cl,) if 1235 g of gas absorbs 355 kJ of

energy when chlorine vaparizes at —34°C. kS /ol
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<4 8 B 9.) How many joules of energy would be required to heat 15.9 g of diamond from 23.6°C to 54.2°C?
(Specific heat capacity of diamond = 0.5091 J/g °C.)
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15200 5 10.) A layer of copper welded to the bottom of a skillet weighs 125 g. How much heat is needed to
raise the temperature from 25°C to 300°C? The specific heat capacity of copper is 0.387 J/g °C.
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